Class:9th

Test:Biology

Attempt ......... questions

1 Complete set of spindle fibers is called:

a) Chromatin b) Mitotic spindle
c¢) Kinetochore d) Phragmoplast
Cells die each day apoptosis in an adult
human:

a) 50-100 billion b) 50-80 billion

¢) 50-90 billion d) 50-70 billion
Process of formation of new tumors is
known as:
a) Synapsis b) Crossing Over
¢) Metastasis d) Regeneration
Errors in the control of mitosis may.
cause:

a) Cancer b) Ulces

c) Constipation d) Diarrhoea
Programmed cell deathi§ called:
a) Apoptosis b) Necrosis
c) Osmosis d) Meiosis

When tumors remain in their orginal
location are called"

a) Benign tumors b) Malignant tumors
¢) Metastasis d) None of these
Change in genes is called:

a) Regeneration b) Mutation

c) Growth d) Budding

The chromosomes arrange themselves
along the equator of the cell in this
phase:

a) Prophase b) Metaphase

¢) Anaphase d) Telophase

© 2022 A product of "ParagonSoft" Gujranwala,Pakistan

e b 26 2
a) S b) JmErdl
c) HEY d) eotp sk
Sl K Ui I B

b) ¢¥50-80
d) 50-70
St foi stz

a) ¢¥50-100
¢) ¢1¥50-90

&S50 b) el bl
o) e ¥l d).:,ﬁ;zd/
9%Cﬁn¢fhuﬁa/aﬁﬂu’/jét

b)

d) L3
?‘L&Ma/&lb‘éﬂ/j{d/}f
Q) Used  b) USE
c) U d U

L WSS e S

a)/"f{
) K

b) K

d) AL
?‘L@Miiuﬁﬁ'

b)

a) //)fgftd
¢) Ul

a) A

Il d) £

IS AN SR TS
iz

2) 2y b) 2

¢) Al d) A

-



